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Balance the following equations!
\ a. ) Kg + Che || ZKlg

\ b. \ 7Kg + Brng > LKBry

\ C. \ 7K + Fo || LKF

‘ d. \ Ux + 02| /KO

Te. \ L]L Na + 0z |2| /Na0

\ f. \ 6 Na + Nz |=>| /NaN

{g. \ JC + 02 |2 /. Ca0

X h. Ba + Brz =2 BaBr:

[ i. Zsr o+ N2 |2 SriN:

\ j. 72 K + J/H0 |>| /KOH + H

E{, \ Ca + /H0 |2 Ca(OH) + Ha

( 1. Mg+ Nz D] MaNo

(m. Mg:N2 + ZH0 || 9Mg0 + [ NHs

n.| 7 NHiCl + Ca(OH)2 || / NHs +7/H20 + CaClz

0. (NH4)2S0s + ZNaOH || /. NHs +/H0 + Nag;*
L_p, U Fes;  + |02 || L Fe0s + G50

\>q - 7 MoS: + /02 || 2 Mo0s + U 50
‘\r_\ MoOs + DHe || Mo+ 5 Ho
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Balancing equations

Starting with the skeleton equations, balance the following equations by adding coefficients .
where appropriate. Rewrite the final balanced equation on the line.

10.

11.

1.2,

13:

14.

15.

16.

17.

18.

19,

20.

H, + F2 > HF H, + F, > 2HF

Sn + 02 2 Sn0O ZSn + 02"9 ZSV,O
MgCl > Mg+cl Mg Cly —= Hj + C|,
KNOs > KNOz+0; ZKNO2, — ZKNo, + O,
BN+F, > BFs+N, ZBN + 3T, —> ZFF. + N,
Cub+Fe>FeL+cu Cul, + Fo —> fel, + Cu
Li+H0 > LiOH+H, 2Li + ZHO = ZLioH + Ha
NHs + 02 > Nz + H20 FNH; + 50, =2 2N, + (L H,0
ViMs+Ca>Ca0+V _V20¢ + 5Ca —> 560 + 2V @
s+ b >pPbs+Ha oS + Phel, == FbS + 2H((
Zn + CuS0s > Cu+Zns0, Zn + Cu S0y ™2 Cu + Zn50,
CeHizOs+ 02> COp+ H:0_ Cobliz Of + LO, = (O, + (H,0
CaHsOH + 0> COz+ H0_C2Hs OH + 30, —> 2(0, +3#,C
Al + HaS0s > Hz + Al(805); ZAl + 3H, S0, — 3H_ +/4/2(S'0¢)3
FeCls + Ca(OH)2 > Fe(OH)s + Cacl, 2fe Cly + DG (on),—> 7 k(o) "3

%
<

Pb(NO3)2 + K2CrOs > PbCrOs + KNOs PPN6D, + Ko €rOy — PLCr0, + 24,

iy
CA(NO3)2 + (NH£)2S > CdS + NH,NO; S4(N%), + (W4D.S —> (dS+ Zwa, Ao,

Ca(NO3)z + NH4Cl > NH3 + CaCl; + H20 Ca (0H), + ZNHycl —> 2 NH 5 *Ga), 2
CsHgUs + 02 2 COz + H20 Z C‘?’/QO% * /703 = /36,0,_ + 6”20 . D

CsHOH + 02> C0,+ Ho0 2 H 00 + 90, == C Co, + 8H,0




